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1- Lkw> ;k varnZ`f"V dk fl)kar fdlus fn;kA 

(A) dksgycxZ  (B) dksgyj 

(C) fLduj   (D) oqMoFkZ 

2- fuxeukRed rdZ.kk esa 'kkfey gS& 
(A) lkekU; ls fof’k"V dh vksj rdZ.kk  

(B) fof’k"V ls lkekU; dh vksj rdZ.kk 

(C) Kku dk lfØ; fuekZ.k vkSj iqufuekZ.k 

(D) vUos"k.kijd lh[kuk vkSj Lor% [kkst ijd 

laca/kh i)fr;k¡  

3- fuEu esa ls dkSu&lk lh[kus dk izkFkfed fu;e 
ugha gSA 

(A) rRijrk dk fu;e  

(B) vH;kl dk fu;e 

(C) cgqizfrfØ;k dk fu;e 

(D) izHkko dk fu;e  

4- fuEu esa ls dkSu lk lw{ke is’kh; voLFkk dk 

mnkgj.k gSA 

(A) mNyuk   (B) dwnuk  

(C) CykWd cukuk  (D) nkSM+uk 

5- fuEu ls dkSu lk cky fodkl dk fl)kar ugha 

gSA 

(A) O;fDrxr fHkUurk dk fl)kar 

(B) fof’k"V ls lkekU; dk fl)kar 

(C) fodkl dh fn’kk dk fl)kar  

(D) ,dhdj.k dk fl)kar 

6- ekuo fodkl ---------gSA 
(A) ek=kRed   

(B) xq.kkRed 

(C) dqN lhek rd vekiuh;  

(D) ek=kRed vkSj xq.kkRed nksuksa 

7- 'kS’kodky dh vof/k gS& 

(A) tUe ls 1 o"kZ rd  

(B) tUe ls 2 o"kZ rd 

(C) tUe ls 3 o"kZ rd 

(D) 2 ls 3 o"kZ rd 

 

1. Who gave the principle of understanding 

or insight? 

(A) Kohlberg   (B) Kohler 

(C) Skinner   (D) Woodworth 

2. Involves in deductive reasoning- 

(A) Reasoning from the general to the 

specific 

(B) Reasoning from the specific to the 

general 

(C) Active construction and 

reconstruction of knowledge 

(D) exploratory learning and self-

exploratory methods 

3. Which of the following is not an 

elementary law of learning? 

(A) the law of readiness 

(B) law of practice 

(C) Law of multiple reactions 

(D) law of effect 

4. Which of the following is an example 

of a microscopic muscular state? 

(A) to bounce   (B) to jump 

(D) Block making  (C) running 

5. Which of the following is not a principle of 

child development? 

(A) The principle of individual difference 

(B) The principle of specific to general  

(C) Theory of Direction of Develop-

ment 

(D) the principle of integration 

6. Human development is ………. 

(A) Quantitative 

(B) Qualitative 

(C) Unmeasurable to some extent 

(D) Both quantitative and qualitative 

7. The period of infancy is 

(A) from birth to 1 year 

(B) From birth to 2 years 

(C) From birth to 3 years 

(B) 2 to 3 years  

cky fodkl 
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8- oa'kkuqØe ds tud ekus tkrs gSaA 
(A) xszxj easMy  (B) okVlu 

(C) MkfoZu   (D) buesa ls dksbZ ugha 

9- izd̀fr vkSj iks"k.k dgykrk gSA 
(A) okrkoj.k vkSj oa’kkuqØe 

(B) oa’kkuqØe vkSj okrkoj.k 

(C) oa’kkuqØe vkSj izd̀fr  

(D) okrkoj.k vkSj iks"k.k 

10- fuEu esa ls dkSu izkjafHkd lkekthdj.k ek/;e 
gSA 

(A) fo|ky;  (B) ljdkj 

(C) ehfM;k   (D) ifjokj 

11- thookn] thu fi;kts dh fdl voLFkk dh 

fo’ks"krk gSA 

(A) banzh; tfur  (B) iwoZ lafØ;kRed 

(C) ewrZ lafØ;kRed  

(D) vkSipkfjd lafØ;kRed 

12- dksgyoxZ us uSfrdrk ds fdrus Lrj crk;s gSA 

(A) pkj   (B) rhu 

(C) ik¡p   (D) N% 

13- izkFkfed Lrj ij Ldwy fdrus fdeh- ds nk;js 

esa gksaxs\ 

(A) 2 fdeh-  (B) 1 fdeh- 

(C) 3 fdeh  (D) 5 fdeh- 

14- fuEufyf[kr lajpukvksa esa ls f’k{kk dk 

vf/kdkj vf/kfu;e] 2009 fdldh odkyr 

djrk gS\ 

(A) lekos’kh f’k{kk   

(B) izFkDdj.k 

(C) eq[;/kkjk f’k{k.k  

(D) ,dhd`r f’k{kk 

15- fuEu esa ls D;k o`f) ds f=&vk;keh fl)kar 

ls lacaf/kr ugha gSA  

(A) vko’;drk  (B) fo"k;&oLrq 

(C) lafØ;k   (D) mRikn 

 

 

8. Considered the father of inheritance. 

(A) Gregor Mendal  (B) Watson 

(C) Darwin    

(D) None of these 

9. Nature and nurture are called. 

(A) Environment and heredity 

(B) heredity and environment 

(C) heredity and nature 

(D) Environment and nutrition 

10. Which of the following is an early 

socialization medium? 

(A) school  (B) government 

(C) media  (D) family 

11. Animism is a characteristic of which 

state of Jean Piaget's ? 

(A) sensorimotor 

(B) pre-operation 

(C) concrete operational   

(D) operational formal operational 

12. How many levels of morality have 

been given by Kohlberg. 

(A) Four    (B) Three 

(C) Five   (D) Six 

13. At primary level what willbe the 

range of school in km. 

(A) 2 kms  (B) 1 km. 

(C) 3 kms   (D) 5 kms. 

14. Which of the following structures does 

the Right to Education Act, 2009 

advocate? 

(A) Inclusive education (B) Separation 

(C) Mainstream education 

(B) Integrated Education 

15. Which of the following is not related 

to the three-dimensional theory of 

growth? 

(A) Requirement (B) Content 

(C) the operation  (D) the product  
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16- o`f) ds PASS ekWMy ds izfriknd dkSu gSaA 

(A) vkeZLVªkax  (B) Mxyl 

(C) ts-ih-nkl  (D) oqMoFkZ 

17- fuEu esa ls dkSu lk Hkk"kk dk Hkkx ugha gSA  

(A) Lofue   (B) :Ik foU;kl  

(C) okD; foU;kl  (D) :fie 

18- tc lkspus dh izfØ;k fdlh Hkk"kk }kjk 

izHkkfor gksrh gSA rks ,slh fLFkfr dks dgrs gSaA  

(A) laLd`fr izHkkfor  

(B) Hkk"kk fu/kkZfjr  

(C) laKkukRed i{k  

(D) vkdjf.kd 

19- ,d ,slh vPNh ikB~; iqLrd -------ls cprh 

gSSA  

(A) HkkSfrd iwokZxzg  

(B) ySafxd laosnu’khyrk  

(C) ySafxd lekurk 

(D) lkekftd mÙkjnkf;Ro 

20- ge lHkh viuh cqf)] izsj.kk] vfHk:fp vkfn 

ds lanHkZ esa fHkUu gksrs gSaA ;g fl)kar lacaf/kr 

gSA  

(A) o`f) ds fl)karksa ls  

(B) oa’kkuqØe ls  

(C) i;kZoj.k ls  

(D) oS;fDrd fHkUurk ls  

21- fo|ky; vk/kkfjr vkadyu  

(A) f’k{kk&cksMZ dh tokcnsgh de djrk gSSA 

(B) lkoZHkkSfed jk"Vªh; ekudksa dh izkfIr esaa 

ck/kk mRiUu djrk gSA 

(C) ifjfpr okrkoj.k esa vf/kd lh[kus esa lHkh 

f’k{kkfFkZ;ksa dh enn djrk gSA 

(D) f’k{kdksa vkSj f’k{kkfFkZ;ksa dks vxaHkhj vkSj 

ykijokg cukrk gSA 

22-fMLdSYdqfy;k fdl ls laca/kfr v{kerk gSA  

(A) xf.krh;   (B) ekSf[kd 

(C) ys[ku laca/kh  (D) cksyus laca/kh 

 

16. Who is the exponent of the CHA 

model of growth? 

(A) Armstrong  (B) Douglas 

(C) JP Das  (D) Woodworth 

17. Which of the following is not a part 

of language? 

(A) phoneme    

(B) form configuration 

(C) Syntax (D) Morpheme 

18. When the process of thinking is 

influenced by a language. So this 

situation is called 

(A) culture affected  

(B) language determined 

(C) cognitive   

(D) metaphorical 

19. Such a good text book avoids ……. 

(A) physical bias 

(B) sexual sensitivity 

(C) gender equality 

(D) Social Responsibility 

20. We all differ in terms of our 

intelligence, motivation, aptitude etc. 

This principle is related to - 

(A) from the principles of growth 

(B) heredity 

(C) environment 

(D) individual difference 

21. School Based Assessment 

(A) Reduces the accountability of the 

Board of Education. 

(B) Hinders the attainment of universal 

national standards. 

(C) Helps all learners to learn more in a 

familiar environment. 

(D) Makes teachers and learners trivial 

and careless. 

22. Dyscalculia is a disability related to 

(A) Mathematical  (B) Oral 

(C) Rhetorical   
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(D) Speaking 

23-lh-ch-,l-bZ- }kjk izLrkfor lewg&ifj;kstuk 

xfrfof/k --------dk ,d l’kDr lk/ku gSA  

(A) lkekftd Hkkxhnkfjrk dks lqxe cukus  

(B) f’k{kdksa ds Hkkj dks lqxe djus 

(C) jkst ejkZ ds f’k{k.k ls gksus okys ruko dks 

nwj djus   

(D) vusdrk esa ,drk dh ladYiuk dk izpkj 

izlkj djus  

24- ,d leL;k dks ewy ,oa vilkjh lek/kkuksa dks 

lkFk djus dh ;ksX;rk fuEufyf[kr esa ls 

fdldh ,d izkFkfed fo’ks"krk gSA   

(A) {kfrxzLr cPPkksa dh 

(B) l̀tukRed cPPkksa dh  

(C) vf/kxe v’kDrrk okys cPpksa dh   

(D) vgdsafnzr cPpksa dh  

25- iquoZyu dk fl)kar ------ls lacaf/kr gSA  

(A) ikoykWo  (B) FkkWuZMkbd 

(C) dksgyoxZ  (D) fLduj 

26- fd.Mj xkVZu i)fr ds tUenkrk gSA  

(A) ikoykso   (B) ÝkWcsy 

(C) ekfj;k ekaVsljh  (D) fLduj 

27- thu fi;kts us laKkukRed fodkl ds fl)kar 

esa fdruh voLFkk;sa crk;h gSaA  

(A) pkj    (B) ik¡p 

(C) vkB   (D) ckjg 

28- tUe ds le; f’k’kq dh yackbZ gksrh gSaA  

(A) 20 bap  (B) 52 lseh 

(C) A o B nksuksa  (D) 40 Lkseh 

29- ftueasa ekr`izse dh Hkkouk gksrh gSS og fdl 

xazfFk ds dkj.k gksrh gSA  

(A) vksfMil  (B) bysDVªk 

(C) a o b nksuks  

(D) buesa ls dksbZ ugha 

30- vkehZ vYQk ijh{k.k dSlk ijh{k.k gSA  

(A) O;fDrxr  (B) lkewfgd 

(C) a o b nksuksa  

(D) buesa ls dksbZ ughaA 

23. CBSE The group-project activity 

proposed by CBSE is a powerful 

for........ 

(A) Facilitating social participation 

(B) To ease the burden of teachers 

(C) To remove the stress caused by 

daily  teaching 

(D) To propagate the concept of unity 

in diversity 

24. The ability to combine original and 

divergent solutions to a problem is a 

primary characteristic of which of the 

following? 

(A) damaged children 

(B) of creative children 

(C) of children with learning disabilities 

(D) egocentric children 

25. The principle of reinforcement is 

 related to......... 

(A) Pavlov  (B) Thorndike  

(C) Kohlberg  (D) Skinner 

26. The father of Kindergarten system is 

(A) Pavlov  (B) Frobel  

(C) Montessori  (D) Skinner 

27. How many stages have been given by 

Jean piaget in the theory of cognitive 

development? 

(A) Four  (B) Five 

(C) Eight  (D) Twelve 

28. The length of an infant at birth is 

(A) 20 inches   (B) 52 cm 

(C) A and B both  (D) 40 cm 

29. In which, there is a feeling of motherly 

love, it is due to which gland? 

(A) Oedipus  (B) Electra 

(C) A and B both  (D) none of these 

30. What is the Army Alpha test? 

(A) individual  (B) Grouped 
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(C) A and B both  (D) None of these 

 

 

31-Hkk"kk lh[kus dk mís’; gSA 

(A) vkns’k&funsZ’k ns ikuk vkSj lqu ikuk 
(B) nwljksa dh ckrksa dks le> ikuk 
(C) vius eu dh ckr dg ikuk 
(D) izR;sd fLFkfr esa Hkk"kk dk iz;ksx dj ikuk 

32-ßcPPkksa ds Hkk"kkbZ fodkl esa lekt dh egRoiw.kZ 

Hkwfedk gksrh gSAÞ ;g fopkj fdldk gSa\ 

(A) fLduj   (B) pkWELdh 
(C) okbxksRLdh  (D) fi;kts 

33- fo|kfFkZ;ksa dk Hkk"kkbZ fodkl lexzrk ls gks 

lds] blds fy, lcls mi;qDr vuq’kalk gksxh& 

(A) Hkk"kk iz;ksx ds fofo/k voljksa dh  
(B) lrr~ ,oa O;kid vkdyu dh 
(C) loksZÙd`"B ikB~;&iqLrdksa dh  
(D) 'kCndks’k ,oa fo’odks’k ds iz;ksx dh  

34- fyf[kr Hkk"kk dk iz;ksx & 

(A) dk;kZy;h dk;ksZa ds fy, gh fd;k tkrk gS 
(B) viuh vfHkO;fDr ds fy, fd;k tkrk gS 
(C) dsoy lkfgR; l`tu ds fy, fd;k tkrk gS 
(D) dsoy izfrosnu&ys[ku ds fy, fd;k tkrk 

gS 

35- Hkk"kk dh d{kk esa Hkk"kkbZ [ksyksa dk vk;kstu 

eq[;r%& 

(A) vkdyu dk dke djrk gS   
(B) jkspdrk vkSj tks’k ykrk gS 
(C) v/;kid ds dke dks ljy cukrk gS 
(D) Hkk"kk lh[kus dh izfØ;k esa LokHkfodrk 

ykrk gS 

36- dfork&dgkfu;ksa ij ppkZ djus ,oa iz’u iwNus 

dk mís’;& 

(A) dYiuk’khyrk dk iks"k.k djuk ek= gSa 
(B) Hkk"kk lh[kus dk vkdyu djuk ek= gS 
(C) lkfgR; ds izfr cPpksa dh :fp tkxzr 

djuk gS    

(D) Hkk"kk dh fofHkUu NVkvksa dk vuqHko djkuk 

gS 

37- Hkk"kk dk vfLrRo ,oa fodkl---------ds ckgj 

ugha gks ldrkA 

(A) lkfgR;   (B) lekt 
(C) fo|ky;  (D) ifjokj 

38- fdlh lekos’kh d{kk esa dkSu&lk dFku 

Hkk"kk&f’k{k.k ds fl)karksa ds vuqdwy gS\ 

(A) cPps vius vuqHkoksa ds vk/kkj ij Hkk"kk ds 

fu;e ugha cuk ikrs   
(B) Hkk"kk fo|ky; esa jgdj vftZr dh tkrh gS 
(C) O;kdj.k ds fu;eksa dk Kku Hkk"kk&fodkl 

dh xfr Rofjr djrk gS   
(D) fiazV&le`) ekgkSy Hkk"kk lh[kus esa enn 

djrk gSA 

39- izkFfed Lrj ij fo|kfFkZa;ksa ds Hkk"kk&f’k{k.k ds 
lanHkZ esa dkSu&lk dFku lgh gS \ 

(A) cPps le`) Hkkf"kd ifjos’k esa lgt :i ls 

Lor% Hkk"kk esa lq/kkj dj ldrs gSa 

(B) cPpksa dh Hkk"kkbZ ladYiukvksa vkSj fo|ky; 

ds Hkk"kkbZ ifjos’k esa fojks/kkHkkl Hkk"kk 

lh[kus esa enn djrk gS 
(C) cPps Hkk"kk dh tfVy vkSj le`) 

ljpukvksa dk Kku fo|ky; esa gh vftZr 

djrs gSa 

(D) lrr~ :i ls dh tkus okyh fVIif.k;k¡ ,oa 

vuojr vH;kl Hkk"kk lh[kus esa :fp 

mRiUu djrs gSa 

40- izkFkfed Lrj dh d{kk esa fHkUu&fHkUu izkarksa ds 

vyx&vyx Hkk"kk cksyus okys cPpksa dk 

ukekadu gqvk gSA ,slh fLFkfr esa Hkk"kk dh d{kk 

cPpksa ds Hkk"kkbZ fodkl ds lanHkZ esa& 

(A) vojks/k gh izLrqr djrh gS   
(B) cgqr cM+h leL;k cu tkrh gS 
(C) vueksy lalk/ku ds :I esa dk;Z djrh gS 
(D) tfVy pqukSrh ds :i esa lkeus vkrh gS  

fgUnh 

fgUnh 
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41-igyh d{kk dh Hkk"kk v/;kfidk vius ,d 

fo|kFkhZ ds Hkk"kkbZ fodkl ds laca/k esa fpafrr gSa] 

D;ksafd& 

(A) fo|kFkhZ dks ?kj ij ckr djus ds cgqr de 
volj feyrs gSa    

(B) fo|kFkhZ ds ekrk vkSj firk dh ekr`Hkk"kk 

vyx&vyx gS 
(C) fo|kFkhZ vius lkfFk;ksa ls cgqr >xM+rk gS 
(D) fo|kFkhZ iBu&ikBu esa :fp iznf’kZr ugha 

djrk gS 
42-cPpksa ds cksyuk lh[kus ds lanHkZ esa dkSu&lk 

dFku lgh gS\ 

(A) cM+s ifjokj esa cPpksa dh ^cksyuk* lh[kus 

dh xfr rst gksrh gS   
(B) fu/kZu ifjokjksa ls vk, cPpksa dh ^cksyuk* 

lh[kus dh xfr /kheh gksrh gS 
(C) dgus&lquus ds vf/kd ls vf/kd volj 

feyus ij cPps cksyuk ljyrk ls lh[krs 

gSa 
(D) lHkh cPpksa dh ^cksyuk* lh[kus dh xfr 

,dleku gksrh gS 
43-fo|ky;@d{kk esa le`) Hkk"kkbZ ifjos’k ls 

rkRi;Z gS& 

(A) cksyus&lquus] i<+us&fy[kus ds vf/kd ls 

vf/kd volj   
(B) ,d ls vf/kd Hkk"kkvksa ds 'kCndks’k dh 

miyC/krk  
(C) v/;kid dks ,d ls vf/kd Hkk"kkvksa dh 

tkudkjh   
(D) eq[; /kkjk dh Hkk"kk lquus ds vf/kd ls 

vf/kd volj 

44-vius fo|kkfFkZ;ksa ds Hkk"kk laca/kh Øfed fodkl 

dk vkdyu djus ds fy, vkidh fuHkZjrk 

eq[; :i ls fdl ij gS\ 

(A) ekSf[kd dk;Z djokus ij   

(B) x`gdk;Z dh mÙkj&iqfLrdkvksa ds voyksdu 

ij 
(C) d{kkdk;Z ds voyksdu ij  

(D) iksVZQksfy;ksa ds voyksdu ij 
45-vkids fo|kFkhZ ikB esa vk, uohu@vifjfpr 

'kCnksa ds vFkZ tku ldsa] blds fy, vki& 

(A) 'kCndks’k ns[kuk fl[kk,¡xh   
(B) 'kCn dk vFkZ fy[kdj crk,¡xh 
(C) ikB ds lanHkZ esa vFkZ le>us dh fLFkfr 

iSnk djsaxh 
(D) ikB ds var esa fn, x, ^’kCnkFkZ* ns[kus ds 

fy, dgsaxh 

funsZ'k%& fn, x, i|ka'k dk i<+dj uhps fy[ks 

iz'uksa mRrj nhft,& 

HkkX;okn vkoj.k iki dk vkSj 'kL= 'kks"k.k dk 

ftlls j[krk nck ,d tu Hkkx nwljs tu dkA 

iwNks fdl HkkX;oknh ls ;fn fof/k&vad izcy gS] 

in ij D;ksa nsrh u Lo;a olq/kk fut jru mxy 

gS\ mitkrk D;ksa foHko izd`fr dks lhap&lhap dj 

ty ls \ D;ksa u mBk ysrk fut lafpr dks"k HkkX; 

ds cy ls \ ,d euqt lafpr djrk gS vFkZ iki 

ds cy ls] vkSj Hkksxrk mls nwljk HkkX;okn ds 

Ny lsA uj&lekt dk HkkX; ,d gS og Je] og 

Hkqt&cy gS ftlds lEeq[k >qdh gqbZ i`Foh] fouhr 

uHk&ry gSAA  

46-'kL= dk 'kks"k.k dk izrhd D;ksa ekuk tkrk gS\ 

(A) blls fdlh O;fDr ij izgkj fd;k tk 

ldrk gS   
(B) 'kL=/kkjh O;fDr nwljs O;fDr dks nck 

djds j[krk gS 
(C) 'kL= ls yksx Mjrs gS   
(D) mi;qZDr esa ls dksbZ ugha 

47-fdu iz'uksa ls HkkX;oknh dks fu:Ùkj fd;k tk 

ldrk gS 
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(A) ;fn HkkX; dh izcyrk gS rks gekjs pj.kksa 

esa i`Foh jRu D;ksa ugha mxy nsrhA  
(B) izd`fr dks ty ls lhpus dh D;k 

vko';drk gS 
(C) HkkX; ds cy ls dks"k D;ksa ugha fey 
tkrkA   
(D) mi;qZDr lHkh 

48-Je ds ifj.kke dks dkSu Hkksxrk gS\ 

(A) vk'kkoknh  (B) fujk'kkoknh 
(C) tks HkkX; dks Nyus dh {kerk j[krk gS 
(D) /kuk<~; ;k iwathifr 

49-Je dh egÙkk fdu iafDr;ksa esa crkbZ xbZ gS\ 

(A) iwNks fdlh HkkX;oknh ls ;fn fof/k vad 

izcy gS   
(B) uj lekt dk HkkX; ,d gS] og Je] og 
Hkqt cy gS 
(C) mitkrk D;ksa foHko izd`fr dks] lhap& lhap 
dj ty ls    
(D) vkSj Hkksxrk mls nwljk] HkkX;okn ds Ny 

ls  

50-Hkqt&cy dk rkRi;Z gS& 

(A) Hkqtkvksa dh rkdr (B) /ku dh rkdr 
(C) #rcs dh rkdr (D) HkkX; dh rkdr 

51-HkkX;oknh og gS tks & 

(A) deZ esa fo'okl djs  
(B) HkkX; ij fo'okl djs 
(C) nkSyr ij fo'okl djs   
(D) 'kksgjr ij fo'okl djs 

52-^ij rqe\* dk Hkko gS& 

(A) ij rqe i<+rs gh jgs    
(B) ij rqeus /;ku ugha fn;k 
(C) ij rqeus jVuk gh lh[kk 
(D) ij rqeus i<+uk NksM+ fn;k 

53-^cgqr fudV vkuk* ds fy, eqgkojk gS& 

(A) rksrk jVar  (B) ikl vkuk 

(C) flj ij vkuk  (D) vOoy vkuk 

54-igkM+h fgUnh fdl {ks= esa cksyh tkrh gS\ 

(A) mÙkjh e-iz-  (B) fgekpy izns’k 
(C) iwohZ e-iz-  (D) jktLFkku 

55-^midwy* esa dkSu lk lekl gS\ 

(A) }Un    (B) f}xq 
(C) vO;;hHkko  (D) rRiq:"k 

56-fdl 'kCn esa ,d izR;; dk iz;ksx ugh fd;k 

tk ldrk gS\ 

(A) ,d izd`fr  (B) Kku 
(C) cqf)   (D) okLro 

57-^?k* dk mPpkj.k LFkku dkSu lk gS\ 

(A) ew)kZ   (B) d.B 
(C) rkyq   (D) nUr 

58-Hkkjrh; 'kCn dk cgqopu gS\ 

(A) Hkkjrh;ksa  (B) Hkkjfrvksa 
(C) Hkkjfr;ksa   
(D) buesa ls dksbZ ugha 

59-fuEufyf[kr esa ls iqfyax 'kCn dkSu lk gS\ 

(A) unh   (B) ikuh 
(C) bykbph  (D) I;kl 

60-uhps fn, x, fodYiksa esa ls rRle 'kCn dk 

p;u dhft,A 

(A) vkez   (B) nw/k 
(C) 'kghn   (D) f[kM+dh  
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Language 2 (English) 
Directions – (Q.61 to 67) : Read the 

passage given below and answer the 

questions that follow by selecting the 

correct/most appropriate option. 

 
 

PASSAGE 
 

 The history of civilization shows 

how man always has to choose between 

making the right and wrong use of the 

discoveries of science. This has never 

been more true than in our own age. In a 

brief period amazing discoveries have 

been made and applied to practical 

purpose. 

 It would be ungrateful not to 

recognize how immense are the boons, 

which science has given to mankind. It 

has brought within the reach of 

multitudes, benefits and advantages 

which only a short time ago were the 

privilege of the few. It has shown how 

malnutrition, hunger and disease can be 

overcome. It has not only lengthened life 

but it has deepened its quality. Fields of 

knowledge. Experience and recration 

open in the past only a few, have been 

thrown open to millions. Through the 

work of science the ordinary man today 

has been given the opportunity of a 

longer and fuller life then was over 

possible to his grandparents.  

61. Amazing discoveries of science 

have been made: 

(A) in a brief period 

(B) in a long period 

(C) in our father's age    

(D) in centuries 

62. The boons of science are: 

(A) few        (B) found nowhere 

(C) immense (D) very few 

63. Which of the following can be 

overcome with the help of science ? 

(A) Malnutrition (B) Disease 

(C) Hunger  (D) All of these 

64. Science provides a chance of: 

(A) shorter and fuller life    

(B) longer and fuller life 

(C) longer and dull life     

(D) none of these 

65. What on the whole, has science 

done to mankind ? 

(A) It  has reduced the quality of 

our life     

(B) It has shortened our life 

(C) It has deepened the quality of 

life     

(D) It has done a great harm to 

mankind 

66. 'It has not only lengthened life but 

it has deepened its quality'.  

The underlined word in the above 

sentence is a - 

(A) Noun  (B) Pronoun 

(C) Verb  (D) Adverb 

67. Identify the word from the passage 

which has similar meaning to the 

word-'blessings'. 

(A) recration (B) boons 

(C) amazing (D) advantages 

Directions – (Q.68 to 75) : Read the 

passage given below and answer the 

questions that follow by selecting the 

correct/most appropriate option. 
 

PASSAGE 
 

 It is said that wars are fought for 

the sake of peace. Many a politician 

justifies wars as being the means of 

bringing about stability in the 
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international relations. So far as the aim 

of those who are always busy in society 

is concerned, their motive is not always 

to achieve freedom from work. Their 

ultimate purpose is not to be idle. To be 

busy is a mode of life or habit. Those 

who are busy in society, say, 

businessmen, or people in authority, 

politicians or statesmen, officials or 

employees, are all part of the continuous 

machine which keeps the society going. 

 People are busy so that different 

activities of a society are carried out and 

the wherewithals which mankind badly 

needs are provided. No society, however, 

prosperous and endowed with bounties of 

nature, can afford to have the objective of 

being idle in the long run. No doubt, 

advanced countries ensured minimum 

facilities of living and amenities of work 

for their workmen; they even fix their 

working hours so that after their busy 

day's life they can have some leisure at 

their disposal for self development or 

peace of mind. Yet, with the passage of 

time a busy society has the tendency to 

become busier. Even with the best 

computers and automations at the 

disposal of the modern technocrats 

manpower continues to remain busy, as 

one phase of achievement leads 

automatically to the second phase of 

work. War may have the intention of 

peace but business is undending so long 

as a society has the objective of progress 

and does not become stationary or 

stagnant or decadent.   

68. According to the passage, busy 

people: 

(A) want frecdom work    

(B) want to be idle 

(C) do not like rest     

(D) are part of a machine which 

runs society  

69. Why are people busy ? 

(A) to carry out different activities 

of society     

(B) to provide needs of mankind 

(C) both A and B     

(D) none of the above 

70. Author says that: 

(A) no society can be idle    

(B) developed countries can be idle 

(C) underdeveloped countries can 

be idle     

(D) all of the above 

71. Computers and automations: 

(A) have made man idle    

(B) could not relieve man from 

busy life 

(C) both of the above     

(D) none of the above 

72. With the passage of time man is 

becoming busier because 

(A) he likes to be busy     

(B) he is born to be busy 

(C) to be busy is mode of life or 

habit     

(D) all of the above 

73. The opposite of the word 'develop-

ment' is - 

(A) Increase (B) Growth 

(C) Expansion (D) Decline 

74. Their ultimate purpose is not to be 

idle.' 

The above sentence is a.............. 

sentence. 

(A) Affirmative (B) Negative 

(C) Imperative (D) Interrogative 

75. 'To be busy is a mode of life or 

habit'. The underlined word in the 

above sentence is a - 
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(A) Noun  (B) Pronoun 

(C) Preposition (D) Conjunction 

76. Which composition should be 

taught at the early stage - 

(A) Literary writing     

(B) Imaginative 

(C) Guided     

(D) None of the above 

77. Who adopted the substitutional 

table method first - 

(A) Mac Carthy (B) H.E. Palmer 

(C) Kittson  (D) Webster 

78. Which method is known as Natural 

Method - 

(A) Grammar Translation    

(B) Direct 

(C) Substitution   

(D) Dr. West's Method 

79. Mrs. Sinha asks prediction 

questions as she reads aloud a story 

to her class III students. She does 

this to - 

(A) Make the story interesting   

(B) Focus on comprehension 

(C) Help students remember impor-

tant details in the story     

(D) Improve student's vocabulary. 

80. Which of the following is the high-

est level of cognitive ability ? 

(A) Evaluating (B) Aanalysing 

(C) Knowing      (D) Understanding 

81. Which one of the following is not a 

form of literature for children ? 

(A) Picture books (B) Thesaurus 

(C) Myths and legends     

(D) Tales of heroes of history 

82. Which one of the following 

stateme-nts in not correct about 

Print Rich Environment ? 

(A) It consists of context-based 

relevant material for children 

such as pictures, rhymes, 

stories etc.     

(B) Once the material is pasted on 

walls, it should not be removed 

for the whole session. 

(C) Pictures/posters give children 

an opportunity to talk about 

things, persons and 

happenings.    

(D) Encourage children to create 

their own poems, posters, 

stories etc. 

83. A teacher gives a task of dialogue 

completion to class V students. The 

role of this task in language 

learning will be ............ 

(A) teaching of structures.    

(B) the separation of spoken and 

written forms of language. 

(C) to facilitate conversation by 

giv-ing specific language 

practice using formulaic 

expressions.    

(D) to provide frequent feedback 

only on grammatical errors. 

84. Using 'realia' in the language class 

means bringing ............. 

(A) real life situations to commun-

icate.     

(B) real objects as teaching aids. 

(C) realistic objectives and targets 

for the learners.     

(D) real level of child's learning to 

the knowledge of parents. 

85. The multilingual nature of the 

Indian class-room must be used as 

a resource so that ................ 

(A) every child feels secure and 

accepted.     

(B) every child learns at the same 

pace. 
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(C) children can learn many 

languages.     

(D) the teacher develops language 

proficiency. 

86. A language teacher asks students to 

make a butterfly with paper by 

following her instructions. This 

activity will help the students to 

develop.......... 

(A) Paper folding skill     

(B) Reading comprehension 

(C) Paper making skill     

(D) Listening comprehension 

87. A language teacher asks students to 

collect flowers to make a flower 

scrap book. She also asks them to 

write the name of each flower in 

their language and in English. This 

activity will help her to promote 

...... 

(A) Multilingualism     

(B) Language across the curriculum 

(C) A love for nature     

(D) Integration of subjects 

88. In which of the following the role 

of the learner is that of an 

independent learner ? 

(A) Teaching learning materials   

(B) Integrated maerials 

(C) Teaching Aid     

(D) Building as a Learning Aid 

89. Creating a reading corner in the 

classroom helps .............. 

(A) the children but burdens the 

teacher to maintain a register 

and keep record of their work.   

(B) to share the responsibility of 

the librarian as the books are 

issued by the teacher. 

(C) children to learn and revise 

their syllabus thoroughly.   

(D) to provide opportunities to 

children to select books 

indepe-ndently as per their 

interest. 

90. Formative assessment helps in - 

(A) Creating an environment where 

learners can compete with each 

other     

(B) Engaging learners in 

meaningful tasks and preparing 

them for competitive exams. 

(C) Assessing a teacher's efficiency 

in teaching.     

(D) Providing qualitative feedback 

to learners to improve. 
 

 

 

61- 1000 bR;s"kk la[;k vfLr& 

 (A) dksfV%  (B) vcqZne~ 
 (C) [koZe~  (D) lgL=e~ 
62- 'kq)okD;e~ vfLr& 

 (A) unhH;ks xaxk Js"Bk  
 (B) unh"kq xaxk Js"Bk 
 (C) unhH;ka xaxk Js"Bk  
 (D) unhfHk% xaxk Js"Bj 
63- ^^,d% dkd% egko`{ks iRU;k lg olfrA**  

 (A) egko`{ks iRU;k lg d% olfr\ 
 (B) dkd% egko`{ks d;k lg olfr\ 
 (C) dkd% iRU;k lg dq= olfr\  
 (D) dkd% iRU;k lg fda djksfr\ 
64- ^fgra ------------ p nqyZHka op%A* leqfpr 

insu fjäLFkkua iwj;r& 

 (A) eukgkfj  (B) euks;qäe~ 
 (C) eulfgre~  (D) euksgkjh 
65- ekgsÜoj lw=kf.k lfUr& 

 (A) iŒpn'k  (B) prqnZ’k 
 (C) lIrn’k  (D) }kn’k 
66- v/kksfyf[krs"kq ,dopuL; :iefLr& 

laLd`r 
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 (A) eukafl  (B) eulh 
 (C) 'kL=kf.k  (D) f’kjfl 
67- ^foeqä%* bR;L; inL; foykseinefLr& 

 (A) ;q)  (B) mf}Xue~ 
 (C) vkc)%  (D) i{kr% 
68- ^^f’kf{kdk ckfydk dks iqLrd nsrh gS** vL; 

okD;L; laLd`rkuqokn% Hkfo";fr & 

 (A) f’kf{kdk ckfydk;S iqLrda nnkfr 
 (B) f’kf{kdk ckfydk; iqLrda nnkfr 
 (C) f’kf{kdk ckfydka iqLrde~ nnkfr  
 (D) f’kf{kdk ckfyd;k iqLrde~ nnkfr 
69- okx~:ia HkkoizdVua dsu dkS’kysu lEHkofr\ 

 (A) Jo.k dkS’kysu (B) Hkk"k.k dkS’kysu 
 (C) iBu dkS’kysu (D) ys[ku dkS’kysu 
70- dl;ka i)R;ka v/;kid% loZa okpk onfr] 

Nk=k% Locq)~;k >fVfr fo"k;ku~ x`àfUr\ 

 (A) lekgkj fof/k%  
 (B) vkxeu&fuxeu fof/k% 
 (C) vUo;&O;frjsd fof/k%  

 (D) okrkZyki fof/k% 
71- laLd`rHkk"kf’k{k.kL; LokHkkfod% Øe% 

vfLr& 

(A) Jo.ka] iBua] ys[kua] Hkk"k.ka 

(B) Hkk"k.ka] Jo.ka] iBua] ys[kua 
(C) Jo.ka] Hkk"k.ka] iBua] ys[kua]  

(D) iBua] Jo.ka] ys[kua] Hkk"k.ka 

72- lEHkk"k.kf’kfojk.kke~ vk;kstus laLd`r 

Hkk"kk&f’k{k.kL; d% fl)kUr LohfØ;rs\ 

 (A) ,drk&lgHkkfxrk;k% fl)kUr%  
 (B) HkoukRed&vfHkO;äs% fl}kUr% 
 (C) LokHkkfodrk;k% fl}kUr% 
 (D) iBukH;klL; fl)kUr% 
 fuEufyf[kr vifBra x|ka’ke~ vk/kkjhd`R; 

iz’uk% ¼43&48½ lek/ks;k%& 

 vijfLeu~ fnols f’k{kd% jkekuqte~ 

vrtZ;r~A rRi’pkr~ l% xf.krfo"k;L; 

d{kka dnkfi u R;äoku~ ijh{kkifj.kkes p 

'krizfr’kre~ všku~ xf.krfo"k;s 

izkIroku~A izkFkZuklHkk;kefi f’k{kd% rn~ 

o`ÙkkUra losZH;% Nk=sH;% Jkforoku~A 

iqu’pksäkoku~ & ^^,"k% ckyd% ,rL; 

fo|kyL; egku~ fo|kFkhZ Hkfo";frA** 

jkekuqtks∙fi iw.kZlkeF;sZu v/;;us 

layXuks∙HKwr~A dkykUrjs l% egku~ 

xf.krKks∙HKor~A 

73- ^jkekuqte~* bR;= d% lfU/k%\ 

 (A) ;.k~ lfU/k% (B) nh?kZ lfU/k% 
 (C) xq.k lfU/k% (D) v;kfn lfU/k% 

74- ^R;äoku~* bR;= izR;;% vfLr%& 

 (A) orqi~  (B) erqi~~ 
 (C) Drorq  (D) 'kkup~ 
75- ^ijh{kkifj.kkesa* bR;= leklfoxzg% orZrs& 

 (A) ijh{k;k ifj.kkes  
 (B) ijh{k;k% ifj.kkes 
 (C) ijh{k;k% ifj.kkes  
 (D) ijh{k;ka ifj.kkes 
76- ^’krizfr’kre~ všku~ xkf.krfo"k;s 

izkIroku~A* vfLeu~ okD;s cgqopukUra ina 

fde~ vfLr\ 

 (A) 'krizfr’kre~ (B) všku~ 
 (C) xf.kr fo"k;s (D) izkIroku~ 
77- ^lHkk;ke~* bR;= dk foHkfä%\ 

 (A) f}rh;  (B) prqFkhZ 
 (C) "k"Bh  (D) lIreh 
78- ekgsÜoj lw=s"kq ;.k~ izR;kgkjL; mfprØe% 

vfLr& 

 (A) ; o j y (B) ; j y o 
 (C) ; y j o  (D) ; y o j 
79- fuEufyf[krs"kq n`’;&JO; lk/kuefLr& 

 (A) ikBîiqLrde~  
 (B) nwjn’kZue~ 
 (C) dFkkys[kuijh{kk  
 (D) 'yksdys[kuijh{kk 
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80- fuEufyf[krs"kq ekSf[kdijh{kk vfLr& 

 (A) 'kykdkijh{kk  

 (B) fucU/k:iijh{kk 
 (C) dFkkys[kuijh{kk  
 (D) 'yksdys[kuijh{kk 
81- fuEufyf[krs"kq fyf[krijh{kk;k% izdkj% orZrs& 

 (A) lk{kkRdkj% (B) vUR;k{kjh 
 (C) fucU/k:iijh{kk (D) 'kykdkijh{kk 
82- v/kksfyf[krs"kq oLrqfu"Bijh{kk;k% izdkj% 

orZrs& 

 (A) cgqlek/kkuiz’uk%  
 (B) fjäLFkkuiwj.ke~ 
 (C) lR;klkR;fu.kZ;%  
 (D) y?kwÙkjkRediz’uk% 
83- ^^f’k{kd% Nk=L; U;wurka foKk; rL; 

ifjektZua djksfrA** rnk f’k{kd% v= dL; 

f’k{k.kL; iz;ksxa djksfr\ 

 (A) funkukRedf’k{k.kL;  
 (B) mipkjkRedf’k{k.kL; 
 (C) mHk;ks% (A) ,oa (B)  
 (D) lw{ef’k{k.kL; 
84- ^losZ v/;kidk% Nk=L; O;ogkje~ vkpj.ke~ 

v/;;uŒp ijh{; Lo LokfHkere vš:is.k 

fy[kfUrA Nk=% loZnk v/;kidL; fujh{k.ks 

HkofrA* vL;ka izfØ;k;ka Nk=L; ewY;kšua 

Hkofr& 

 (A) lkef;dewy;kšue~  

 (B) okf"kZØewY;kšue~ 

 (C) lrrewY;kšue~  

 (D) ekSf[kdewY;kšue~ 
 fuufyf[kre~ vifBra x|ka’ke~ vk/kkjhd`R; 

v/kksfyf[krk% iz’uk% ¼55&60½ lek/ks;k%& 

 lw;Zuxjh:is.k izfl)a tks/kiqjuxjefi 

,sfrgkflda egÙoa /kkj;frA ekjokMjkT;L; 

jkt/kkuh:IS.k izfl)s∙fLeu~ uxjs 

esgjkux<nqxZ% jktLFkkuL; rktegy:is.k 

izfl)a tloUrFkMk ukeda LFkkua] 

dk;ykukdklkj%] e.Mksjks|kua p bR;knhfu 

LFkykfu lfUrA ohjf’kjkse.ks% izrkiL; 

ekrqyx`ga ikyhuxjesokfLrA ikyhtuins 

ij’kqjkeegknsoL: efUnja] LFkiR;n`"Vîk 

foÜoizfl)a j.kdiqjtSuefUnje~ vfi fo|rsA 

85- ^^bR;knhfu LFkykfu lfUr**A js[kakfdr 

fØ;kina y³~ydkjs Hkofr& 

 (A) vklhr~  (B) vklu~ 
 (C) vklue~  (D) vkLrke~ 

86- ^^efUnje~** bR;= fda fy›e~\ 

 (A) iqafYyxe~  (B) L=hfyxe~ 
 (C) uiqaldfyaxe~ (D) loZfyaxe~ 
87- ^^LFkkiR;n`"Vîk foÜoizfl)a 

j.kdiqjtSuefUnja fo|rs**A v= js[kkafdrins 

opue vfLr& 

 (A) ,dopue~  (B) f}opue~ 
 (C) cgqopue~  (D) loZopue~ 
88- ^vfozl)e~* bR;L; foyksein% vfLrA 

 (A) vfl)e~  (B) lqfl}e~ 
 (C) izflre  (D) izfl)e~ 

89- ^j.kdiqj tSuefUnjefi fo|rs*A v= 

js[kkfšrs ins ydkj% vfLr& 

 (A) y³~ ydkj% (B) yV~ ydkj% 
 (C) y`V~ ydkj% (D) yksV~ ydkj% 
90- ,sfrgkflda eÙoa /kkj;frA v= js[kkfšins 

/kkrq% vfLr& 

 (A)/k`"k~   (B) /kkfj 
 (C)/k`   (D) /kj 
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 MATHS 
91- fuEufyf[kr esa ls dkSu lh lcls cM+h fHkUu gS 

(A) 3∕4  (B) 5∕8  
(C) 7∕9  (D) 1∕2 

92- g"kZ #- 120 esa ,d fdrkc [kjhnrk gS vkSj 

bls lqjfHk dks 25% ds ykHk ij csprk gS 

lqjfHk bls lhek dks csprh gS vkSj lhek bls 

fQj #- 198 esa csprh gS ftlls 10% dk 

ykHk gksrk gS lqjfHk n~okjk vftZr ykHk izfr'kr 

fdruk gksxkA 

(A) 20%  (B) 25% 

(C) 18%  (D) 10%  

93- ;fn #- 253 dks fnus'k :ch vkSj xksiky ds 

chp 2%3%4 esa foHkkftr fd;k tkrk gS rks :ch 

dk fgLlk fnus'k ds fgLls ls fdrus #i, 

vf/kd gSA 

(A) 69   (B) 36 
(C) 57   (D) 72 

94- ,d fuf'pr la[;k esa ls 40% ?kVkus vkSj 

'ks"kQy ls 20% ?kVkus ds ckn 2856 'ks"k 

cprs gSa rks izkjafHkd la[;k D;k Fkh 

(A) 8550  (B) 5950 
(C) 5850  (D) 5875 

95- ;fn 5432*7 ukS ls iw.kZrk foHkkT; gS rks * ds 

LFkku ij dkSu lk vad gksxkA 

(A) 9   (B) 6 
(C) 3   (D) 1 

96- x ds LFkku ij D;k vkuk pkfg, rkfd 

873x24 la[;k 4 ls iw.kZr% foHkkT; gksA 

(A) 1   (B) 3 
(C) 4   (D) buesa ls dksbZ Hkh 

97- 1-1 izkIr djus ds fy, 0-01 esa tksM+h tkus 

okyh la[;k dkSu lh gksxhA 

(A) 1-11  (B) 1-09 
(C) 1-0  (D) 0-10 
 
 

 

 

Xkf.kr 

91. Which of the following is the 

largest difference. 

(A) 3∕4  (B) 5∕8  
(C) 7∕9  (D) 1∕2 

92. Harsh Rs. 120 and sells it to Surbhi 

at a profit of 25% Surbhi sells it to 

Seema and Seema sells it again for 

Rs. 198 by which there is a profit of 

10%, what will be the percent-age 

of profit earned by Surbhi. 
(A) 20%  (B) 25% 

(C) 18%  (D) 10%  

93. If Rs. 253 is divided between 

Dinesh Ruby and Gopal in 2 : 3 : 4 

then Ruby's share is Rs. more than 

Dinesh's share. 

(A) 69  (B) 36     (C) 57    (D) 72 

94. After subtracting 40% from a 

certain number and 20% from the 

remainder, a remainder of 2856 is 

left, then what was the initial 

number 
(A) 8550  (B) 5950 
(C) 5850  (D) 5875 

95. If 5432*7 is divisible by nine, what 

will come in place of *? 

(A) 9    (B) 6 

(C) 3   (D) 1 

96. What should come in place of x so 

that the number 873x24 is 

completely divisible by 4. 

(A) 1    (B) 3 

(C) 4   (D) any of these 

97. What will be the number to be 

added to 0.01 to get 1.1. 

(A) 1.11   (B) 1.09 

(C) 1.0  (D) 0.10 
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98- 848342 esa nksuksa 4 ds LFkkuh; eku ds chp 

varj Kkr dhft,A 

(A) 39960  (B) 40060 
(C) 36990  (D) 30907 

99- ,d fuf'pr la[;k dks 441 ls Hkkx nsus ij 

'ks"kQy 47 izkIr gksrk gS rks mlh la[;k dks 

21 ls Hkkx fn;k tk, rks 'ks"kQy D;k gksxkA 

(A) 4   (B) 6 
(C) 8   (D) 5 

100- nks la[;kvksa dk vuqikr 3%4 gS vkSj mudk 

y?kqÙke lekioR;Z 360 gS rks mu la[;kvksa dk 

;ksxQy D;k gksxkA 

(A) 212  (B) 225 
(C) 210  (D) 196 

101- ,d oLrq dk foØ; ewY; Kkr dhft, ;fn ,d 

nqdkunkj #- 500 ds vafdr ewY; ij 10% 

ds nks Øfed NwV iznku djrk gS 

(A) 504  (B) 400 
(C) 405  (D) 331 

102- dqN lkeku dks #-33 esa cspus ij ,d 

lsYleSu dks vius mRiknu ij 1% dh gkfu 

gksrh gS ykHk ;k gkfu dk izfr'kr Kkr dhft, 

tc og mls #- 35 esa csprk gSA 

(A) 7% gkfu  (B) 5% ykHk 
(C) 5% gkfu  (D) 7% ykHk 

103- ,d eksckby 12-5% ds ykHk ij cspk tkrk 

gS ;g foØ; ewY; nksxquk dj fn;k tk, rks 

ykHk izfr'kr fdruk gksxkA 

(A) 150%  (B) 100% 

(C) 125%  (D) 200% 

104- ,d oLrq dk vafdr ewY; 400 gS ,d Mhyj 

,d fuf'pr nj ij NwV nsus ds ckn ,slh rhu 

oLrqvksa dks 1092 esa Hkstrk gS rks NwV dh nj 

Kkr dhft,A 

(A) 10%  (B) 11% 

(C) 12%  (D) 09% 

 

98. Find the difference between the 

place value of 4 in 848342. 

(A) 39960  (B) 40060 

(C) 36990  (D) 30907 

99. If a certain number is divided by 

441, the remainder is 47, then if the 

same number is divided by 21, what 

will be the remainder. 

(A) 4    (B) 6 

(C) 8   (D) 5 

100. The ratio of two numbers is 3 : 4 

and their L.C.M. is 360, then what 

will be the sum of those numbers. 

(A) 212   (B) 225 

(C) 210  (D) 196 

101. Find the selling price of an article if 

a shopkeeper charges Rs. Offers 

two successive discounts of 10% on 

the marked price of 500 

(A) 504   (B) 400 

(C) 405  (D) 331 

102. By selling some goods for Rs.33 a 

salesman loses 1% on his 

production find the percentage of 

profit or loss when he sells it for Rs. 

sells for 35. 

(A) 7% Loss (B) 5% Profit 

(C) 5% Loss (D) 7% Profit 

103. A mobile is sold at a profit of 

12.5%, if the selling price is doubl-

ed, then what will be the profit 

percentage? 

(A) 150%  (B) 100% 

(C) 125%  (D) 200% 

104. The marked price of an article is 

400 A dealer after giving a discount 

at a certain rate sends three such 

articles for 1092 then find the rate 

of discount. 

(A) 10%  (B) 11% 

(C) 12%  (D) 09% 
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105- ,d oLrq ftldk vafdr ewY; #- 4200 gS nks 

Øekxr NwV ds ckn #- 2520 esa csph tkrh gS 

;fn igyh NwV 25% dh gS rks nwljh NwV 

fdrus izfr'kr gksxhA  

(A) 15%  (B) 20% 

(C) 25%  (D) 30% 

106- ,d cYysckt us 36] 50] 46] 60] 53] 55 

dh Ng ikfj;ksa esa fuEufyf[kr ju cuk, ,d 

ikjh esa mlds n~Okkjk cuk, x, vkSlr ju 

fdrus gksaxsA 

(A) 46   (B) 47 
(C) 50   (D) 60 

107- dkSu lk cM+k gS 20 lkS $ 20 ngkbZ $ 20 

bdkbZ ;k 2220 \ 

(A) 20 lkS 20 ngkbZ 20 bdkbZ  
(B) 2220 
(C) nksuksa leku gS    
(D) budh rqyuk ugha dh tk ldrh 

108- la[;k ,d 64532 esa 6]3 ls fdruk xquk cM+k 

gS 

(A) 1000 xquk  (B) 2000 xquk 
(C) 3000 xquk  (D) 6000 xquk 

109- 9 gtkj 3 lkS 2 ngkbZ 6 bdkbZ cjkcj ugha gS 

(A) 9000$300$20$6     (B) 9326 ngkbZ 
(C) 9 gtkj 30 ngkbZ 2 ngkbZ 6 bdkbZ  
(D) 9326 bdkbZ 

110- vkbZih,y dh fVdV dh dher esa 3%7 ds 

vuqikr esa o`n~f/k gksus ls eSp ns[kus okys 

n'kZdksa dh la[;k esa 16%13 ds vuqikr esa deh 

gksrh gS fVdV ls gksus okyk dqy laxzg fdl 

vuqikr esa c<+k ;k ?kVk gS  

(A) 19%23 ds vuqikr esa cM+k gS  
(B) 23%19 ds vuqikr esa ?kVk gS 
(C) 48%91 ds vuqikr esa cM+k gS  
(D) 91%48 ds vuqikr esa ?kVk gS 

 

 

105. An article whose marked price is 

Rs. 4200 after two successive 

discounts is Rs. 2520 if the first 

discount is 25%, then what is the 

percentage of the second discount? 

(A) 15%  (B) 20% 

(C) 25%  (D) 30% 

106. A batsman scored the following 

runs in six innings of 36, 50, 46, 60, 

53, 55. What will be the average 

runs scored by him in an innings? 

(A) 46    (B) 47     (C) 50   (D) 60 

107. Which is greater 20 hundred + 20 

tens + 20 unit or 2220 ? 

(A)  20 hundred 20 tens 20 units 

(B) 2220 

(C) both are same 

(D) They cannot be compared 

108. The number one in 64532 is how 

many times greater than 6,3 

(A)  1000 times (B) 2000 times 

(C) 3000 times (D) 6000 times 

109. 9 thousand 3 hundred 2 tens is not 

equal to 6 units 

(A)  9000+300+20+6  

(B)9326 Tens 

(C) 9 thousand 30 tens 2 tens 6 

units 

(D) 9326 units 
110. Due to increase in the ratio of 3 : 7 in 

the ticket price of IPL, the number of 

viewers watching the match decreases 

in the ratio of 16 : 13, in what ratio the 

total ticket collection has increased or 

decreased? 

(A) is larger in the ratio 19:23 

(B) is reduced in the ratio 23 : 19 

(C) is greater in the ratio 48:91 

(Ds) is decreased in the ratio 91:48 
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111. NCF- 2005 us lokZfèkd cy fn;k gS  

(A) Kku dh lajpuk ij    

(B) voèkkj.kkvksa dks jVus ij    

(C) dfBu lokyksa dks gy djus ij   

(D) rsth ls xf.kr djus ij 
112.  xf.kr lkj laxzg uked iqLrd ds jpf;rk gS\ 

(A) Jh egkohjkpk;Z th  
(B) Jh 'kadjkpk;Z th    

(C) Jh n;kuan th    

(D) Jh foosdkuan th 
113. vewrZ ,oa laxr ljapukvksa ds vè;;u dk 

fo"k; fuEu esa ls fdl fo"k; dks dgk tkrk gS\ 

(A) fganh   

(B) lkekftd foKku  

(C) dyk    

(D) xf.kr 
114. fuEufyf[kr esa ls dkSu&lk 'kCn xf.kr esa   

ifjHkkf"kr gSa \ 

(A) js[kk  (B) fcanq    

(C) prqHkZqt dk fod.kZ  (D) lery 
115. xf.kr lH;rk dk ,d niZ.k gSA 

(A) ykSdh    

(B) IywVks      
(C) gkWxcsu      

(D) MkWYVu 
116. xf.kr f'k{k.k dk eq[; mís'; fdl {kerk dks 

fodflr djuk gS 

(A) leL;kvksa dks gy djus dh {kerk   

(B) lw= ;kn djus dh {kerk    

(C) rkfdZd <ax ls lkspus dh {kerk    
(D) leL;k dh tfVyrk le>us dh {kerk 

117. xf.kr esa csgrj gksus ds fy, ,d O;fä dks --

----------- vko';drk gSA 

(A) x.kukvksa esa çoh.krk dh   

(B) vewrZ fpUru vkSj rdZlaxr foospu }kjk 

leL;kvksa dks cukus vkSj mUgsa lw=c) djus 

dh   

(C) lw= ;kn djus dh   
(D) gy dks ;kn j[kus dh 
 

111. NCF- 2005 has given the most 

emphasis. 

(A) On the structure of knowledge 

(B) On memorizing concepts 

(C) on solving difficult questions 

(D) doing maths fast 

112. He is the author of the book called 

Mathematics Synopsis. 

(A) Shri Mahaviracharya ji 

(B) Shri Shankaracharya ji 

(C) Sri Dayanandji  

(D) Sri Vivekananda 

113. Which of the following subjects is 

the subject of study of abstract and 

coherent structures? 

(A) Hindi         (B) Social Science 

(C) art   (D) mathematics 

114. Which of the following terms are 

defined in Mathematics? 

(A) line   (B) point 

(C) Diagonal of a quadrilateral  

(D) Plane 

115. Mathematics is a mirror of civiliza-

tion. 

(A) Gourd   (B) Pluto 

(C) Hogbane  (D) Dalton 

116. The main objective of teaching 

mathematics is to develop which 

ability 

(A) Ability to solve problems 

(B) Ability to remember formulas 

(C) Ability to think logically 

(D) Ability to understand the 

complexity of the problem 

117. To get better at Mathematics a 

person needs …………. 

(A) Proficiency in calculations 

(B) the ability to formulate and 

formulate problems through 

abstract thinking and logical 

reasoning 

(C) to memorize formulas 

(D) remembering the solution 
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118. xf.kr dh çd`fr ,oa ljapuk esa fuEu fo'ks"krk 
ikbZ tkrh gS 

(A) xf.kr fo"k; esa vØec)rk  

  

(B) xf.kr dh Hkk"kk vlkadsfrd gS    

(C) xf.kr ,d jlghu fo"k; gS   
  

 (D) xf.kr ,d ewrZ fo"k; gS 
119. ^*xf.kr og foKku gS ftlesa vko';d fu"d"kZ 

fudkys tk ldrs gSA^* ;g fuEu esa ls fdlus 

dgk gS \ 

(A) gkXosu   

(B) fLduj   
(C) ykWd     

(D) cSUtkfed isfjd 
120. xf.kr dks ikBîØe esa fo'ks"k LFkku nsus dk 

çeq[k dkj.k D;k gSa \ 

(A) cPpksa esa rkfdZd n`f"Vdks.k iSnk djus esa 

  

(B) cPpksa dk lekthdj.k djus esa   
(C) cPpksa dk pfj= fodkl djus esa  
  

(D) mijksDr lHkh 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

118. The following characteristics are 

found in the nature and structure of 

mathematics 

(A) orderliness in the subject of 

Mathematics 

(B) The language of mathematics 

is asymmetric 

(C) Mathematics is a boring 

subject 

(D) Mathematics is a concrete 

subject 

119. "Mathematics is that science in 

which necessary conclusions can be 

drawn." Who among the following 

said this? 

(A) Hagvain  (B) Skinner 

(C) Locke  

(D) Benjamic Perrick 

120. What are the main reasons for 

giving special place to Mathematics 

in the curriculum? 

(A) incalculating logical attitude 

in children 

(B) in socializing the children 

(C) in developing the character of 

the children 

 (D. all of the above  
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121- dkSu&lk ifjokj gS] tks lcls NksVk gS 

vkSj blds lnL; dsoy ifr&iRuh rFkk mlds 

vfookfgr cPps gh gksrs gSa\ 

(A) la;qDr ifjokj   
(B) ekr`lÙkkRed ifjokj 
(C) ,dy ifjokj   

(D) fir`lÙkkRed ifjokj 
122- 'kq"d {ks=ksa esa o"kkZ ty ds lqfu;ksftr 

laj{k.k ,oa mi;ksx rFkk de ikuh dh 

vko’;drk okyh rFkk 'kh?kz idus okyh Qlyksa 

dh d̀f"k djuk dgykrk gS& 

(A) >wfeax d`f"k   
(B) 'kq"d ;k ckfjuh d`f"k 
(C) fefJr d`f"k   
(D) buesa ls dksbZ ugha 

123- ,sls m|ksx ftuesa fofuekZ.k m|e Js.kh ds 

varxZr la;a= rFkk e’khujh esa iw¡th fuos’k 25 

yk[k :i, gks] dgykrk gS& 

(A) vfr y?kq m|ksx (B) dqVhj m|ksx 
(C) y?kq m|ksx  (D) e?;e m|ksx 

124- fuEu esa ls dkSu lkoZtfud LFky ugha gSa\ 

(A) fo|ky;  (B) fpfdRlky; 
(C) Mkd?kj   
(D) buesa ls dksbZ ugha 

125- fuEu esa ls dkSu&lk R;ksgkj oS’kk[k ekg 

dh 'kqDyk r`rh; dks euk;k tkrk gS \ 

(A) vk[kk rht  (B) jke uoeh 
(C) vUudwV  (D) 'khryk"Veh 

126- fuEu esa ls dkSu&lk vklu jDrnkc 

lkekU; j[kus esa lgk;d gS\ 

(A) 'oklu   (B) i|klu 
(C) 'kh"kkZlu  (D) 'kyHkklu 

127- czkthy es dh tkus okyh LFkkukarfjr d`f"k 

dks D;k dgrs gS \ 

(A) feYik   (B) jksdk 
(C) yMke   (D) rkejkbZ 

121. Which family is the smallest and its 

members are only husband and wife 

and their unmarried children? 

(A) joint family 

(B) matrilineal family 

(C) Nuclear family 

(D) patriarchal family 

122. Well-planned conservation and use of 

rainwater in dry areas and cultivating 

crops that require less water and 

mature quickly is called- 

(A) Jhuming Agriculture 

(B) dry or rainfed agriculture 

(C) mixed farming 

(D) none of these 

123. Such industries in which the capital 

investment in plant and machinery 

under the category of manufacturing 

enterprise is Rs.25 lakh, is called- 

(A) small scale industries 

(B) cottage industries 

(C) small industries 

(D) medium scale industry 

124. Which of the following are not public 

places? 

(A) school   (B) hospital 

(C) post office  (D) none of these 

125. Which of the following festival is 

celebrated on Shukla Tritiya of 

Vaishakh month? 

(A) Akha Teej  (B) Ram Navami 

(C) Annakoot   (D) Sheetlashtami 

126. Which of the following asanas is 

helpful in keeping blood pressure 

normal? 

(A) breathing  (B) headstand 

(C) Shirhasan  (D) Shalabhasana 

127. What is the shifting agriculture done 

in Brazil called? 

(A) Milpa   (B) Roca 

(C) Ladam  (D) Tamrai 

i;kZoj.k 
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128-  fuEu esa ls dkSu&lk foVkfeu gesa jrkS/kh 

jksx ls cpkrk gS\ 

(A) foVkfeu A  (B) foVkfeu B 

(C) foVkfeu C  (D) foVkfeu D 
129- Hkkjr es fdl izdkj dh tyok;q ikbZ 

tkrh gS \ 

(A) ekulwuh  (B) Hkwe/;js[kh; 
(C) mi;qZDr nksuksa(D) mi;qZDr esa ls dksbZ ugha 

130- d`f"k djrs le; [kjirokj fydkyus ds 

fy, fdl midj.k dk iz;ksx fd;k tkrk gS \ 

(A) gy   (B) lhM&fMªy 
(C) dYVhosVj  (D) dqnkyh 

131- fuEu esa ls dkSu ,d uohdj.kh; lalk/ku 

ugha gS \ 

(A) dks;yk   (B) iou ÅtkZ 
(C) lkSj ÅtkZ  (D) mijksDr lHkh 

132- fuEu esa ls dkSu&lk jkT; esa Hkqt uked 

'kgj Hkwdai vk;k Fkk \ 

(A) mÙkj izns’k  (B) e/; izns’k 
(C) egkjk"Vª   
(D) buesa ls dksbZ ugha 

133- fuEu esa ls dkSu&lh jk"Vªh; /kjksgj 

jkt/kkuh fnYyh esa ugha gS \ 

(A) yky fdyk  (B) dqrqc ehukj 
(C) rktegy  (D) laln 

134- ok;qe.My dh dkSu&lh ijr gesa lw;Z ls 

vkus okyh ijkcSaxuh fdj.kksa ls cpkrh gS \ 

(A) lerki e.My  (B) {kksHk e.My 
(C) e/; e.My  (D) vk;u e.My 

135- ;fn gekjs ok;qe.My esa dkcZu 

Mkb&vkWDlkbM dk Lrj c<+ tk, rks D;k gksxk 

\ 

(A) ok;qe.My /khjs&/khjs foyqIr gksus yxsxk 
(B) ok;qe.My esa vkWDlhtu ?kVus yxsxh 
(C) ok;qe.Myh; rkiu c<+us yxsxk 
(D) mi;qZDr esa ls dksbZ ugha 

128. Which of the following vitamin protects 

us from night blindness? 

(A) Vitamin A  (B) Vitamin B 

(C) Vitamin C   (D) Vitamin D 

129. What type of climate is found in 

 India? 

(A) Monsoonal  (B) Equatorial 

(C) both of the above 

(D) none of the above 

130. Which tool is used to remove weeds 

while doing agriculture? 

(A) Plow   (B) seed-drill 

(C) spade  (D) cultivator 

131. Which of the following is not a 

renewable resource? 

(A) coal    (B) wind power 

(C) Solar Energy  (D)All of the above 

132. In which of the following states, the 

city of Bhuj was hit by an earthquake? 

(A) Uttar Pradesh   

(B) Madhya Pradesh 

(C) Maharashtra (D) none of these 

133. Which of the following is not a 

National Heritage in Capital Delhi? 

(A) Red Fort   (B) Qutub Minar 

(C) The Taj Mahal  (D) Parliament 

134. Which layer of the atmosphere 

protects us from ultraviolet rays 

coming from the Sun? 

(A) The stratosphere (B) the troposphere 

(C) Mesosphere  (D) Ionosphere 

135. What will happen if the level of 

carbon dioxide in our atmosphere 

increases? 

(A) the atmosphere will gradually 

begin to dissipate 

(B) Oxygen will start decreasing in the 

atmosphere 

(C) Atmospheric heating will start 

increasing 

(D) none of the above  
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136- feV~Vh esa ik, tkus okys fdl tho dks 

ßfdlkuksa dk fe=Þ dgk tkrk gS \ 

(A) dsapqvk   (B) liZ 
(C) fcPNw  (D) buesa ls dksbZ ugha 

137- fuEu esa ls fdl tho ds vkokl dks ßdSuy 

dgrs gS \ 

(A) ?kksM+k   (B) eqxhZ 
(C) dqÙkk    (D) euq"; 

138- fuEu esa ls dkSu i;kZoj.kh; iznw"k.k ds fy, 

ftEesnkj ugha gS \ 

(A) vkWDlhtu   (B) dkcZu 
(C) lYQj   (D) mijksDr lHkh 

139- i;kZoj.k v/;;u esa fp= i<+uk ,d 

egRoiw.kZ fØ;kdyki gSA fuEufyf[kr esa ls 

dkSu&lk@ls ladsrd@ladsrdksa dk cPpksa esa 

vkdyu fp= i<+us ds }kjk gks ldrk gS \ 

(A) voyksdu vkSj vfHkys[ku 

(B) vfHkO;fDr    
(C) fo’ys"k.k  (D)  iz;ksx djuk 
lgh dFku gS& 

(A) dsoy(A)vkSj(C)(B) dsoy (A) vkSj (B) 
(C) dsoy (D) (D) (A), (B) vkSj (C) 

140- jsfVax Ldsy esa dkSu&lh rduhd dk mi;ksx 

gksrk gS \ 

(A) tk¡p lwph  (B) vf/kfoU;kl 
(C) fyf[kr iz’u  (D) voyksdu 

141- >we [ksrh esa viuk;h tkus okyh i)fr ds 

fo"k; esa uhps fn, x, dFkuksa ij fopkj dhft,% 

(A) ,d Qly izkIr djus ¼dVus½ ds ckn tehu 

dks dqN lky rd ,slh gh NksM+ nsrs gSA 

(B) bl txg tks ck¡l ;k [kjirokj ¼taxy½ mx 

vkrk gS mls m[kkM+dj tyk nsrsa gSA 

(C) [kjirokj ¼taxy½ vkfn dks tykus ij izkIr   

 jk[k dks [kn dh rjg dke esa ykrs gSA  

(D) tc bl tehu esa [ksrh dh ckjh vkrh gS] rks 

cht fNM+dus ls igys bls xgjk tksrk tkrk gSA 

lgh dFku gS@gSa& 

 (A) (B) vkSj (C)  (B) (A) vkSj (D) 
(C) dsoy (A)  (D) dsoy (D) 

136. Which organism found in soil is 

called "friend of farmers"? 

(A) earthworm  (B) snake 

(C) Scorpion       (D) None of these 

137. The habitat of which of the following 

organisms is called "canal"? 

(A) horse  (B) hen 

(C) dog   (D) man 

138. Which of the following is not 

responsible for environmental 

pollution? 

(A) oxygen  (B) carbon 

(C) sulfur             (D) all of the above 

139. Reading pictures is an important 

activity in environmental studies. 

Which of the following indicator/s can 

be assessed in children by reading 

pictures? 

(A) Observation and Recording 

(B) Expression 

(C) Analysis  (D) to use 

The correct statement is- 

(A)only (A) and (C)(B) only (A) and (B) 

(C) only (D)          (D) (A),(B) and (C) 

140. Which technique is used in rating 

scale? 

(A) checklist  (B) orientation 

(C) written question(D) observation 

141. With reference to the method 

followed in Jhum cultivation, consider 

the following statements: 

(A) After getting a crop (cut) leave the 

land like this for a few years. 

(B) The bamboo or weed (forest) that 

grows in this place is uprooted and 

burnt. 

(C) Uses the ashes as manure obtained 

by burning weeds (forests) etc. 

(D) When this land comes for 

cultivation, it is deeply plowed 

before sprinkling the seeds. 

The correct statement is/are- 

(A) (B) and (C) (B) (A) and  (D) 

(C) only (A)   (D) Only (D) 
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142- fdlh ioZrh; {ks= esa isz{k.k djus ij ;g 

ik;k x;k fd yksxksa us vius ?kj iRFkj] 

feV~Vh] ydM+h vkSj pwus ls cuk, gSA ;g ?kj 

nks eaftys gSaA uhps dh eafty ij tkuojksa dks 

j[krs gSa rFkk t:jr dk lkeku Hkh bdV~Bk 

djds j[krs gSaA og Lo;a igyh eafty ij 

jgrs gSaA lHkh ?kjksa dh Nrsa lery gSa rFkk 

bUgsa isM+ksa ds eksVs ruksa ls cuk;k x;k gSA ;g 

ioZrh; {ks= uhps fn, x, fdl izns’k dk Hkkx 

gSa \ 

(A) fgekpy izns’k (B) tEew vkSj d’ehj 

(C) mÙrjk[k.M (D) v:.kkapy izns’k 
143- vkerkSj ij ;g ekuk tkrk gS fd jkr 

tkxus okys tkuoj gj pht dks ftl jax esa 

ns[krs gSaA  

os jax gS&  

(A) ukjaxh vkSj yky  (B) dkyk vkSj lQsn 
(C) cSxuh vkSj uhyk (D) gjk vkSj ihyk 

144- dspqvksa dks fdlkuksa dk fe= ekuk tkrk gS 

blds fy, fuEufyf[kr esa ls lgh dkj.kksa dks 

pqfu, 

(A) dsapq, e`r ifÙk;ksa vkSj ikS/kksa dk [kkrs gS 

rFkk buds ey ls tehu mitkm curh gSA 

(B) dsapq, [kjiockj [kkrs gS ftlls e`nk Qly 

dh j{kk gksrh gSA 

(C) dsapq, tehu esa Nsn cukrs gS ftlls tehu 

iksyh gks tkrh gSA 

(D) dsapqvksa }kjk cuk, x, Nsnksa ls tehu dks 

vklkuh ls gok vkSj ikuh fey tkrk gS 

(A) (C), (D) vkSj (A)  
(B) dsoy (A) vkSj (C) 

(C) (A), (B) vkSj (C) 

(D) (B), (C) vkSj (D) 
 

 

 

 

142. On observation in a mountainous 

area, it was found that people built 

their houses with stone, mud, wood and 

lime. This house has two storeys. On 

the lower floor, animals are kept and 

they also keep essential items. He 

himself lives on the first floor. The 

roofs of all the houses are flat and they 

are made from thick trunks of trees. 

This mountainous region is a part of 

which of the following region? 

(A) Himachal Pradesh 

(B) Jammu and Kashmir 

(C) Uttarakhand  

(D) Arunachal Pradesh 

143. It is generally believed that the 

animals who are awake at night see 

everything in colour. 

Those colors are- 

(A) orange and red  (B) black and white 

(C)purple and blue(D) green and yellow 
144. Select the correct reasons from the 

following for earthworms being 
considered a friend of farmers. 
(A) Earthworms eat dead leaves and 

plants and the soil becomes 
fertile from their feces. 

(B) Earthworms eat weeds, which 
protect the soil crop. 

(C) Earthworms make holes in the 
ground due to which the ground 
becomes hollow. 

(D) The earth gets air and water 
easily through holes made by 
earthworms. 

(A) (C), (D) and (A) 
(B) only (A) and (C) 
(C) (A), (B) and (C) 
(D) (B), (C) and (D) 
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145- vkfnoklh gtkjksa lky igys ls dk¡ls dh 

phtsa cukrs vk, gSaA vkt Hkh gekjs ?kjksa esa 

dk¡ls dk mi;ksx gksrk gSA dk¡ls ds fo"k; esa 

fuEufyf[kr esa ls lcls lgh dFku pqfu, 

(A) ;g rk¡cs ¼dkWij½] tLrk ¼ftad½ rFkk 

,Y;qfefu;e dk feJ.k gSA   
(B) ;g rk¡cs ¼dkWij½ vkSj fVu dk feJ.k gSA 
(C) ;g ,Y;qfefu;e vkSj rk¡cs ¼dkWij½ dh 

Hkk¡fr ,d rRo gSA 
(D) ;g ihry ¼czkl½ vkSj rk¡cs ¼dkWij½ dk 

feJ.k gSA 
146- ukfj;y Myh gqbZ fdlh Hkh djh ds lkFk 

mcyk gqvk VSfivksdk fuEufyf[kr esa ls fdl 

{ks= dk fiz; Hkkstu gS \ 

(A) fcgkj   (B) rfeyukMq 
(C) dsjy   (D) if’pe caxky 

147- fuEufyf[kr esa ls R;ksgkjksa ds ml lewg 

dks pqfu, ftUgsa iwf.kZek dks euk;k tkrk gS& 

(A) gksyh] j{kkcU/ku] xq:ukud tUe fnol 
(B) nhokyh] egkf’kojk=h] xq:ukud tUe fnol 
(C) nhokyh] xq:ukud tUe fnol] j{kkcU/ku 
(D) gksyh] egkf’kojkf=] cq) t;Urh 

148- fuEufyf[kr jkT;ksa ds lewg esa ls 

fdl&,d lewg ds leqnzrV vjc lkxj ij gSa 

\ 

(A) dsjy] dukZVd] if’pe caxky  
(B) rfeyukMq] vka/kz izns’k] dukZVd  
(C) dukZVd] dsjy] xqtjkr 
(D) vka/kz izns’k] dsjy] if’pe caxky 

149- vko`fr dh bdkbZ gSA 

(A) ,fEi;j  (B) cksYV 
(C) ;wuV   (D) gWV~tZ 

150- lhlk ,d eq[; ok;q iznw"kd gS ftldk 

Jksr gS& 

(A) isVªksy okgu  (B) Mhty okgu 
(C) lkbfdy  (D) jsyos 
 

145. Tribals have been making bronze 
things since thousands of years ago. 
Bronze is still used in our homes 
today. Choose the most correct 
statement from the following about 
bronze 
(A) It is a mixture of copper, zinc 

and aluminium. 
(B) It is a mixture of copper and tin. 
(C) It is an element like aluminum 

and copper. 
(D) It is a mixture of brass (brass) 

and copper (copper). 
146. Steamed tapioca with coconut 

nuggets is a favorite food of which 
of the following regions? 
(A) Bihar  (B) Tamil Nadu 
(C) Kerala (D) West Bengal 

147. From the following, select the 
group of festivals which are 
celebrated on the full moon day- 
(A) Holi, Rakshabandhan, Guru 

Nanak Birthday 
(B) Diwali, Mahashivratri, Guru 

Nanak Birthday 
(C) Diwali, Guru Nanak Birthday, 

Rakshabandhan 
   (D) Holi, Mahashivratri, Buddha Jayanti 
148. Which one of the following group 

of states has its coastline on the 

Arabian Sea? 

(A) Kerala, Karnataka, West Bengal 

(B) Tamil Nadu, Andhra Pradesh, 

(C) Karnataka, Kerala, Gujarat 

(D) Andhra Pradesh, Kerala, West 

Bengal 

149. The unit of frequency is 

(A) ampere   (B) bolt 

(C) unit   (D) hertz 

150. Lead is a major air pollutant whose 

source is- 

(A) petrol vehicles 

(B) diesel vehicles  

(C) bicycle   (D) railway 
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MPTET ANSWERS  

                                         (Hindi and English)        Date: 13.02.2022 

1 B 21 C 41 D 61 A 81 B 101 C 121 C 141 C 

2 A 22 A 42 C 62 C 82 B 102 B 122 B 142 A 

3 C 23 A 43 A 63 D 83 C 103 C 123 A 143 C 

4 C 24 B 44 D 64 B 84 B 104 D 124 D 144 C 

5 B 25 D 45 B 65 C 85 A 105 B 125 A 145 B 

6 D 26 B 46 A 66 C 86 D 106 D 126 A 146 C 

7 B 27 A 47 C 67 B 87 B 107 B 127 B 147 A 

8 A 28 C 48 D 68 D 88 D 108 D 128 A 148 C 

9 B 29 A 49 A 69 C 89 D 109 B 129 C 149 D 

10 D 30 B 50 D 70 A 90 D 110 C 130 A 150 A 

11 B 31 D 51 D 71 B 91 C 111 A 131 A   

12 D 32 C 52 D 72 C 92 A 112 A 132 C   

13 B 33 B 53 A 73 D 93 A 113 D 133 A   

14 A 34 B 54 C 74 B 94 B 114 C 134 D   

15 B 35 D 55 A 75 D 95 B 115 D 135 D   

16 C 36 A 56 D 76 C 96 D 116 C 136 C   

17 B 37 B 57 B 77 B 97 B 117 B 137 B   

18 B 38 A 58 A 78 B 98 A 118 A 138 B   

19 A 39 C 59 B 79 B 99 D 119 D 139 A   

20 D 40 C 60 D 80 A 100 C 120 A 140 B   

ANSWERS (SANSKRIT) 

61. B 67 B 73 B 79 C 85 C 

62. B 68 B 74 A 80 D 86 A 

63. C 69 B 75 B 81 D 87 C 

64. B 70 C 76 B 82 A 88 D 

65. B 71 B 77 D 83 B 89 C 

66. C 72 C 78 A 84 B 90 C 
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